







### SANTERASMO

COALMA Dal 1922





**DAL 1922** 



THE AUTHENTIC TUNA COOKED IN A POT. QUALITY WITHOUT COMPROMISE.



#### COALMA L'AUTENTICO Tung in olive oil

Since 1922 - with undiminished passion for the sea and its fruit - we have been producing Coalma autentico tuna, faithfully respecting the traditional Sicilian recipe that involves cooking the tuna in water and salt, that to enhance the quality of the raw materials without affecting texture and

taste.

Yellowfin tunas, carefully selected on board, and the best quality of olive oil distinguish this Macaluso line from the more industrial canned tuna available on the market. This line includes canned tuna and fillets in glass jars.

A tasty and inimitable tuna that, once tried, is able to attract and retain even the most demanding consumers.

Macaluso monitors every step of the production to ensure the excellent quality standard that is appreciated every day and continues being sought by customers around the world.



8005045010658         TUNA IN OLIVE OIL         CAN         80         52         100         9         5         45           8005045010672         TUNA IN OLIVE OIL         CAN         160         104         48         9         6         54           8005045010054         TUNA IN OLIVE OIL         CAN         300         195         48         8         6         48           8005045010665         TUNA IN OLIVE OIL         CAN/CLUSTERX3         80         52         32         8         7         56           8005045010863         TUNA IN OLIVE OIL         CAN/CLUSTERX2         80         52         100         9         5         45           8005045010689         TUNA IN OLIVE OIL         CAN/CLUSTERX2         160         104         24         9         6         54           8005045010696         FILLETS IN OLIVE OIL         CAN         125         90         25         17         9         153           8005045180016         FILLETS IN OLIVE OIL         GLASS JAR         200         140         12         9         14         126	EAN	PRODUCT	PACKAGING		IT IN GR. Orained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010054         TUNA IN OLIVE OIL         CAN         300         195         48         8         6         48           8005045010665         TUNA IN OLIVE OIL         CAN/CLUSTERX3         80         52         32         8         7         56           8005045010863         TUNA IN OLIVE OIL         CAN/CLUSTERX2         80         52         100         9         5         45           8005045010689         TUNA IN OLIVE OIL         CAN/CLUSTERX2         160         104         24         9         6         54           8005045010696         FILLETS IN OLIVE OIL         CAN         125         90         25         17         9         153           8005045180016         FILLETS IN OLIVE OIL         GLASS JAR         200         140         12         9         14         126	8005045010658	TUNA IN OLIVE OIL	CAN	80	52	100	9	5	45
8005045010665       TUNA IN OLIVE OIL       CAN/CLUSTERX3       80       52       32       8       7       56         8005045010863       TUNA IN OLIVE OIL       CAN/CLUSTERX2       80       52       100       9       5       45         8005045010689       TUNA IN OLIVE OIL       CAN/CLUSTERX2       160       104       24       9       6       54         8005045010696       FILLETS IN OLIVE OIL       CAN       125       90       25       17       9       153         8005045180016       FILLETS IN OLIVE OIL       GLASS JAR       200       140       12       9       14       126	8005045010672	TUNA IN OLIVE OIL	CAN	160	104	48	9	6	54
8005045010863         TUNA IN OLIVE OIL         CAN/CLUSTERX2         80         52         100         9         5         45           8005045010689         TUNA IN OLIVE OIL         CAN/CLUSTERX2         160         104         24         9         6         54           8005045010696         FILLETS IN OLIVE OIL         CAN         125         90         25         17         9         153           8005045180016         FILLETS IN OLIVE OIL         GLASS JAR         200         140         12         9         14         126	8005045010054	TUNA IN OLIVE OIL	CAN	300	195	48	8	6	48
8005045010689         TUNA IN OLIVE OIL         CAN/CLUSTERX2         160         104         24         9         6         54           8005045010696         FILLETS IN OLIVE OIL         CAN         125         90         25         17         9         153           8005045180016         FILLETS IN OLIVE OIL         GLASS JAR         200         140         12         9         14         126	8005045010665	TUNA IN OLIVE OIL	CAN/CLUSTERX3	80	52	32	8	7	56
8005045010696 FILLETS IN OLIVE OIL CAN 125 90 25 17 9 153 8005045180016 FILLETS IN OLIVE OIL GLASS JAR 200 140 12 9 14 126	8005045010863	TUNA IN OLIVE OIL	CAN/CLUSTERX2	80	52	100	9	5	45
8005045180016 FILLETS IN OLIVE OIL GLASS JAR 200 140 12 9 14 126	8005045010689	TUNA IN OLIVE OIL	CAN/CLUSTERX2	160	104	24	9	6	54
	8005045010696	FILLETS IN OLIVE OIL	CAN	125	90	25	17	9	153
0007045100000	8005045180016	FILLETS IN OLIVE OIL	GLASS JAR	200	140	12	9	14	126
80U504518U023 FILLETS IN OLIVE OIL GLASS JAR 305 210 12 9 10 90	8005045180023	FILLETS IN OLIVE OIL	GLASS JAR	305	210	12	9	10	90
8005045190015 MACKEREL FILLETS IN OLIVE OIL GLASS JAR 300 195 12 9 10 90	8005045190015	MACKEREL FILLETS IN OLIVE OIL	GLASS JAR	300	195	12	9	10	90



#### COALMA L'AUTENTICO Light tuna in water

"Yellow Fin" tuna cooked in water and salt and packed in water, lightly flavored with sea salt.

Light tuna is particularly tasty, reserved for those who do not like the usual preservation in oil.

Also this particular product maintains the exclusive processing procedure followed by Macaluso, in order to keep flavors and texture unaltered giving a really unique taste to the product.



EAN	PRODUCT	PACKAGING		HT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010825	TUNA IN WATER	CAN	80	52	100	9	5	45
8005045010832	TUNA IN WATER	CAN/CLUSTERX3	80	52	32	8	7	56
8005045140041	TUNA IN WATER	CAN	160	112	48	9	6	56
8005045010320	TUNA FILET IN WATER	GLASS JAR	200	140	12	9	14	126

# CONTENTICO L'AUTENTICO DAL 1922 DAL 1922



#### COALMA L'AUTENTICO TUNA IN OLIVE OIL HO.RE.CA.

Simply cooking the selected Yellowfin tuna in a pot of salty water and the best quality of olive oil distinguish this Macaluso line from more industrialized products. In addition to its traditional processing, its packing by hand is to be mentioned: the whole slices are cut by hand to be  $\gamma$  inserted inside the can intelligently. This line is dedicated to a habitual consumer who, for family use or professional need, looks for quality and bigger quantity, and can recognize the characteristics of a high quality tuna in this Macaluso product.



EAN	PRODUCT	PACKAGING	WEIGHT I		PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010801	TUNA IN OLIVE OIL	CAN	1730 11	125	6	10	5	50
8005045010818	TUNA FILET IN OLIVE OIL	CAN	2450 15	593	6	7	4	28
8005045010108	TUNA IN OLIVE OIL	CAN	4000 20	600	4	7	4	28







THE SICILIAN TUNA.
QUALITY AND FAIR PRICE FOR EVERYDAY USAGE.



#### **DUE PAVONI TUNA IN SUNFLOWER OIL**

Made exclusively from selected fresh tuna, available both, in sunflower and in olive oil. It is produced respecting the values of the traditional recipe: excellent in taste and texture, furthermore it is commercially successful for its unbeatable quality-price ratio.





DISPLAY 1X500 80GR

EAN	PRODUCT	PACKAGING		HT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045910026	TUNA IN SUNFLOWER OIL	CAN	80	52	100	9	5	45
8005045000116	TUNA IN SUNFLOWER OIL	CAN/CLUSTERX3	80	52	32	8	7	56
8005045010849	TUNA IN SUNFLOWER OIL	CAN/CLUSTERX6	80	52	-		-	-



#### **DUE PAVONI TUNA IN OIL**

The line is the right development of a simple and genuine product which is highly appreciated even today by many consumers.

To ensure brand awareness on the shelves, by restyling of the package we kept the colours yellow and green, the two colors that have distinguished Due Pavoni tuna since 1922.





DISPLAY 1X500 80GR

EAN	PRODUCT	PACKAGING		HT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010023	TUNA IN OLIVE OIL	CAN	80	52	100	9	5	45
8005045010528	TUNA IN OLIVE OIL	CAN	1730	1125	6	10	5	50
8005045010214	TUNA IN OLIVE OIL	CAN/CLUSTERX3	80	52	32	8	7	56
8005045010856	TUNA IN OLIVE OIL	CAN/CLUSTERX6	80	52	00	0	0	00



#### **DUE PAVONI TUNA BUZZONAGLIA**

The buzzonaglia is made from the part of the tuna which is in contact with the central bone: its color is dark and it is characterized by an intense flavor. It is highly appreciated for its softness, quality that makes it particularly suitable as an ingredient for pasta dressings.



	EAN	PRODUCT	PACKAGING	WEIGHT IN GR. Net Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
--	-----	---------	-----------	------------------------------	-----------------	----------------	--------------------	-----------------

8005045010436 TUNA BUZZONAGLIA CAN 160 104 48 9 6 54

#### **DUE PAVONI SARDINES IN OLIVE OIL**

The sardine is the most delicious and tasty one among the oily fishes. The best sardines are caught, skinned, deprived of thorns and preserved in high quality olive oil: ready to be enjoyed simply or used as an ingredient in many dishes.



EAN	PRODUCT	PACKAGING	WEIGHT IN G Net Draine		BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010702	SARDINES	CAN	120 84	50	10	10	100



#### DUE PAVONI MACKEREL FILLETS IN OLIVE AND SUNFLOWER OIL

Lo sgombro è un pesce azzurro dalle carni morbide e gustose da sempre consumato sulle nostre tavole. La sua preparazione è parte della cultura gastronomica siciliana ed è per questo che Macaluso lo lavora secondo i dettami della tradizione, rispettandone tutte le caratteristiche e il gusto naturale.

naturale.
Sgombri, olio di prima scelta e preparazione tradizionale sono i semplici ingredienti per un ottimo prodotto da gustare in mille modi.





EAN	PRODUCT	PACKAGING		HT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010719	MACKEREL FILLETS IN OLIVE	CAN	120	84	50	10	10	100
8005045510097	MACKEREL FILLETS IN OLIVE	CAN	2450	1593	6	5	6	30
8005045520102 M	ACKEREL FILLETS IN SUNFLOWER OIL	CAN	2450	1593	6	5	6	30



#### **DUE PAVONI SALTED TUNA**

Salted tuna is an old-time product, which is mentioned even in ancient Phoenician texts. It is known that salting food was indeed the first way to conserve fresh food. From this long tradition derives Due Pavoni salted tuna, a product for true connoisseurs, produced only by few companies following the ancient recipe. Macaluso has always paid close attention to the preservation of culture and seafaring traditions, and so has managed to reproduce the different stages of the preparation one after one to keep the authenticity and flavors of the past intact.



EAN	PRODUCT	PACKAGING	WEIGHT IN GR. Net Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045410106	SALTED TUNA	CAN	10000 7500	2	6	5	30

#### **DUE PAVONI SALTED SARDINES**

A faithful reproduction of the ancient steps of preparation and processing, moreover the attention to quality and freshness of the selected fish are the strengths of this product.



EAN	PRODUCT	PACKAGING	WEIGHT IN GR. Net Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045610100	SALTED SADDINES	CAN	9500 7800				30



#### DUE PAVONI ANCHOVY FILLETS IN OLIVE AND SUNFLOWER OIL.

Filleted, salt-cured meaty anchovies, without bones and marinated in pure oil. A simple and original product. Perfect as a starter or a dressing for tasty dishes!







EAN	PRODUCT	PACKAGING	WEIGH' Net D	Γ IN GR. rained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045420044	ANCHOVY FILLETS IN OLIVE	GLASS JAR	80	42	12	30	10	300
8005045420051	ANCHOVY FILLETS IN OLIVE	GLASS JAR	160	84	12	19	8	152
8005045420068	ANCHOVY FILLETS IN SUNFLOWER OIL	GLASS JAR	320	169	12	10	12	120
8005045020091	ANCHOVY PIECES FILLETS IN SUNFLOWER OIL AND PEPPER	GLASS JAR	580	307	6	12	10	120
8005045010610	ANCHOVY FILLETS IN SUNFLOWER OIL	GLASS JAR	580	307	6	12	10	120
8005045010573	ANCHOVY FILLETS IN SUNFLOWER OIL	GLASS JAR	720	381	6	16	7	112
8005045010580	ANCHOVY PIECES FILLETS IN SUNFLOWER OIL	GLASS JAR	720	381	6	16	7	112
8005045010627	ANCHOVY PIECES FILLETS IN SUNFLOWER OIL	GLASS JAR	1700	901	6	9	5	45

## SANTERASIO













THE BEST FROM THE MEDITERRANEAN SEA.



#### SANT'ERASMO MEDITERRANEAN BLUEFIN TUNA.

The tuna from the Mediterranean sea has always been considered as great value food, both in Italy and abroad, for instance, in Japan Bluefin tuna is a

real delicacy. It is a rare fish-type, which is caught now only in limited quantities. The characteristics that distinguish it from other tuna varieties are to be found in the particular consistency of its meat, its unique flavor and its versatility and make it sought by chefs from all around the world.

To enhance the quality of this product and to preserve its taste, Macaluso even today cooks the tuna in water and sea salt, and follows a strict processing product (with full to the product Significant position).

sing procedure, faithful to the ancient Sicilian tradition.









EAN	PRODUCT	PACKAGING		HT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010900	TUNA FILLETS IN OLIVE OIL (thunnus Alletteratus)	GLASS JAR	200	130	12	9	12	108
8005045010917	TUNA FILLETS IN OLIVE OIL (thunnus Alletteratus)	GLASS JAR	300	195	12	9	12	108
8005045011020	TUNA FILLETS IN OLIVE OIL (thunnus Thynnus)	GLASS JAR	200	56	12	9	12	108
8005045011037	TUNA FILLETS IN WATER (thunnus Thynnus)	GLASS JAR	200	56	12	9	12	108
8005045090056	TUNA BELLY FILLETS IN OLIVE OIL (Thunnus Alletteratus)	GLASS JAR	200	56	12	9	12	108



QUALITY AND CONVENIENCE.



#### **PEDRO** TUNA IN SUNFLOWER OIL AND SUNFLOWER OIL.

Pedro line takes its name from a memorable employee, Colonel Peter, who spent many years in charge of the company fleet. This product is made from quality tuna available both, in olive and sunflower oil. It covers a segment in the retailer market targeting a sustainable family consumption of a tasty and genuine product.





EAN	PRODUCT	PACKAGING		IT IN GR. Drained	PIECES X BOX	BOX X LAYER	LAYERS X PALLET	BOX X PALLET
8005045010726	TUNA IN SUNFLOWER OIL	CAN	80	52	100	9	5	45
8005045010733	TUNA IN SUNFLOWER OIL	CAN/CLUSTERX3	80	52	32	8	7	96
8005045010795	TUNA IN SUNFLOWER OIL	CAN	160	104	48	9	6	54
8005045010757	TUNA IN SUNFLOWER OIL	PACK	1000	950	16	6	9	54
8005045010740	TUNA IN SUNFLOWER OIL	CAN	1730	1125	6	10	5	50
8005045070027	TUNA IN OLIVE OIL	CAN	80	52	100	9	5	45
8005045070058	TUNA IN OLIVE OIL	CAN/CLUSTERX3	80	52	32	8	7	96



MACALUSO S.p.A. Via Ponte di Mare n. 3 | 90123 Palermo | P.I. 06356170826 info@macalusospa.it | macalusospa.it

